
① 514 =4.120
+34

120
=3.34 +18

34
=1.18 +16

10
=1.16 +0x(,0)=2

16
=8.2 +0



② 14 =1.110-4.24

-lib2 =1.10 - 204

2 = 1-2.
=1.(4-10) - 2. (14-16)
=1.4 -394

+20

=1.4-3.(1
-44) +2.(14-14]

= =3 +15 -2.

=
-3 +15-2.(1 -4.4]

= - S. 110 +23.24

wit?"==2

A



③
(a) gcd(12,8) =4

4 X14
Thereare

no integer
solutions

to

14
(b)

Since allb-c)
we
have b-c=

ab where
Rex.

Since and we have
d =al

where le 4.

Thus,

2bd-2cd
=2d(b - c)

=
2(a)(uk)

=
a(zek)

Since 20kEX
this implies

that

a)(2bd-zcd).



④
⑰ HW2 #9

BHW1#



⑤
Since e

=gcd(a, b) we know that

ela and elb

Thus, a=cl
and e =be

where k, le.

So, a+b
=e(k+l)

and a- b =
e(k -l)

So, el(a +
b) and e)(a-

b).

and

So, e is a common
divisor of

atb
a - b.

a - b).

Butd
=gcd(a +b,

Thatis, is
the greatelydigada-b

Rus, ed #



⑤

Since d =gcd(m, n) we know dim
and dIn.

Thus, m
=dk and n =dl where k, l->

2.

Since m)(a-b)
and n/a -c) we know

thata
-b =ms

and a -c =
nt

where ,
t = 2.

Thus,

b -c =(a - ms) - (a -
nt)

=-
ms+nt

=-
dks +dlt

=d[- ks
+lt].

So, dl(b-d.


